
In = 14.
50

4 = 300

Pin = 10hp
Nin = 1800 upm

dp = 1 in

4 = tan"(i) = 16

Wr = We tan % = 210 .
1 x fun 16. 63 = 62
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Wa = We tant = 210 . 1 x fan 30 = 121
. 316

Bearings now need to support
Wa

.

Let's assume the axial load is equally distributed

over bearings A and B
.

It
may

not actually be-depends on types oftearings).
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The axial force on pinion, Wa
,

makes the loads onA different from those on B.
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Forces on dearing A : Fro = JA = 105
.
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Fax = (Ax) = = = 60 . 651

Forces on dearing B : Fr = J Be = 115
. 31 16
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= 60 . 6516Fai = (Ba) =

=

The loads on shaft can be analyzed by the beam bending + the torsion.


